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12209 R #EAE 7V avtd EINGE 2 2530 2 1
2 2217 b FHE Va0 I9ar N 1 DNS 2 1272 FBR HIV s TF i 5 H 3 34.63 3
3 5556 =K Mk} % aph PHRERC  J3 DNS 3 267 BT & L2 —HH P 3 30.75 2
4 5553 WAk A& FETvY ow WHAERC  J2 25.34 3 4 5933 WM WHEE 702V b JACHIL J1 30.08 1
5 5588 A&[M HHiE J=tn V7 PBASE J3 24.82 1 5
6 5639 A BN pEER AYh REBFRC J2 2552 4 6
7 2686 Ll ¥R 9zve Javp i i A 1 27.01 5 7
8 1242 A fef 7% vy = H 2 29.51 6 8
o FiE2M N
v S K4 7 VAT Pl FH Gk NEGL o vy s K4 7V HF A& T Gk AN mi
1 1
2 5945 Gk SRS Ny MLl NSC 1 29.28 1 2
31698 Wk BEKEE ¥IATY ifyey RERS R 1 3227 6 3
4 5936 HFH OB MY T8 HEBFRC JI 3399 7 4
5 940 HH EE Wy TR ENIES 2 30.37 2 5
6 5582 JIIH fEhE U7 TU% PBASE JI 31.29 5 6
71711 R #ESF AT anb FEt 2 1 30.55 3 7
8 1702 fEky WEME pheY M FEREDS 1 3118 4 8
Fm3 FiE3H N
v Fese K4 7 VAT Pl FH Gk NEGL o vy s K4 7V HF A& T Gk AN mi
1 1
2 5941 R/ EB 4742 U9y REBFRC J1 3423 7 2
31726 K %o % R 3 A 3 26.06 3 3
4 5549 Rl K wmhy Ud $HAERC  JI 30.25 5 4
5 5585 s RS Wr T PBASE JI 3421 6 5
6 1539 A BEFD Y7 Eh LHY A0 3 26.03 2 6
7 5552 fAH MKE AW 2 DHAERC  J2 26,45 4 7
8 1716 Hf )R haf vk FtE 2 2 26.00 1 8
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1 1726 =& —ff W IATH FEt 2 32592 4 1
2 1716 M S haf vk R 3 o 2 2603 5 2
3 5553 WAk A& PinTtY ow WHAERC  J2 DNS 3 1272 B bR\ I T 5 H 334.83 1
4 5588 A HE b=in )7 PBASE J3 25.28 1 4 267 BT E L2 —HH P 3 DNS
5 2209 JEEM A& 7V A 29t EINGE 2 25.58 3 5 5933 fmiH WAL 7)=v HYh JACHIL J1 DNS
6 5639 A BN pEER AYh REBFRC J2 DNS 6
7 1539 WA BEFD ¥7Eh U A0 3 2553 2 7
8 5552 Al AKEL Ay ayv WHAERC  J2 DNS 8



